10-1. mMEFEAMAEEF

10. % - #%

SHBE4R1ABE _
M4 i e ik 2
(F) A& | EF | B | W= | Pt (m) FE
% # 2,914 52 596 577 38 1,651
Woo®m T (E8) 1 1 2,882 $28
"B H (%) 78 30 36 12 23,746 $28.S34
BE BT (ch#R) 90 90 11,517 H25.27
B 4~ E BT (BX) 49 7 3 8 12,635 $30, 831
X # @ % A (AX) 120 120 9,049 H16.17
N BN B () 56 14 42 18,740 33
& & T (m) 442 168 162 112 52,062 $35-546
HE+ N E(TH 267 98 61 108 31,114 $40-543
3 = (2@) 112 112 4,798 S40-$43
X B H(BX 48 18 30 9,526 SA1-H4
& W (AKX 64 64 3,406 S41-$43
R OE A B (ZE) 394 106 96 192 44,099 $43-546
N % B (RA) 43 2 6 15 7,510  S55.H8
¥ A BT (R 32 20 12 8,379 S45-562
B B AT (B%) 180 24 156 13,636 S$46-S58
# OE O (BE) 61 21 40 22,691 S46-S57
= g (=Z8) 699 53 134 512 68,026 S$47-S56
& BT (hER) 20 20 1,703 $55
HOOH O (B4 38 38 6,053  $62
o0 W OE (EHE) 18 18 4,690 H
B O A H(E) 50 50 12,167 H4.H6
| R BT (D) 24 24 4,222 H5
W B BT (4 ) 320 H4
Wow R BT (4E) 215 H13
X -A2B mm 20 20 1,066 H6
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10-2. fEEERRARR

10. = - &5

SRR
EEHRRES HERH SEFH | maE | PR
— A =F -gIHAABETH 14 41 2.9
S AMBBET |

=1EF 1 0 0.0

- (FET)
chhe |BBEEEAT = 1 2 20
BEEHERT (=5 KEEHE 2 : 0.5
B HER =B BT 5 14 2.8
EERSEAT ST EHAE 2 3 1.5
&t 25 61 2.4
Rt =& gmATs 15 25 17

S AMBEET |

SEas 1 1 1.0

(FET)
wom  |[BREESAT  |ZE-HSHHE 3 19 6.3
EHSR  \mEstwsag  |==-EE 2 0 0.0
BEHERIT IRERVA 3 3 1.0
EEESEAT  |SEE i 1 1.0
&t 25 49 2.0
—RtEE =% - gIEATS 14 39 2.8
B ABERR T IRERA B 1 1 1.0

(FET)
siE  |BREHSAT  |SE sEUKE 3 9 3.0
EMSR | mEstsad  |HSHHE - B 2 1 0.5
BHER REAE 3 3 1.0
EFEBEAT  |BRET HEIHE 2 : 0.5
&t 25 54 2.2

BEE 75 164 2.

T MRS RERL

EH RBRIO BT HEEIE (S F4EER)
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10. 1F= - 8%

10-3. MR -FARTAHTERFKR
BG4
X5 T 29 FEE| SHMTEE 25 E SEFRE
2 % % B m # = 1,736 1,816 1,709 1,632 1,770
BEHFAUFERFZ (BEEZE) 16 16 6 17 24
F('*E] %B% EELF g " Eﬁ% %; 12 108 84 83 89
I 99 103 134 134 104
T REI B (EtEE8E) 48 103 59 37 60
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10-4. A ETE R B EiE

SHM3FAR1BR%E Bifi:ha
X 155l &

TR 20, 652

#R T T I X 15 20,087.9

e R 1,524.2

FA 32 32 1,487.2

P& izt 45 E 37.0

LB R 12,563.7

#hh B X st 479.0

X RHR B mHHEREE (SH3EER) |
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10-5. A& higi Al &

10. = - &5

SHM3FAR1BR%E
Hhigk & (ha) HBRCLE (%)

¥ | 1,481.2 100
E-RBERBRETESERME 877.8 1.7
F_EEREEEAR 22.2 0.3
F—RBheEERERE R 550.0 7.3
F_EDPERBEREE A 600. 0 8.0
2 — B T B # = 1,284.7 17.2
5 Z B £ B # = 490.7 6.6
# * 155 Hh L 251.4 3.4
" OB o®m x o = 328.3 4.4
[ * Hh L 222.6 3.0
# T E 3 Hh G 1,079.5 14. 4
I E 3 Hh L 526.7 7.0
I X & B # #© 1,253.3 16.7
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10. = - &5

10-6. TN DER & FHEIRR

SH3E4R1BRE
85 A EHEE = ES - E
(X) (Km) & (km) S (%) T & (Km)
E & 1 100. 6 100. 6 100.0 0.0
£ & 33 160. 8 154.3 96.0 6.5
m & 8,479 2,190.8 1,947.5 88.9 243. 3

B RBR B HmmHEEEE (FH3EER) )
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